

329 EAGLE DR, JUPITER, FL, 33477

https://ritterproperties.com

Paradise in Admirals Cove on almost 1/2 acre, with a large side yard to expand or enjoy all that Florida has to offer. This home has 4 bedrooms, 3.5 baths, 2.5 garage, air conditioned workshop that could be a garage or converted to a guest suite, updated kitchen with stainless steel appliances, custom countertops, new [...]

- 4 heds
- 3 haths
- Residentia
- Single Family Residence
- Active
- 3869 sq ft





Basics

Date added: Added 2 weeks ago
Category: Single Family Residence

Type: Residential **Status:** Active

Bedrooms: 4 beds **Bathrooms: 3** baths

Half baths: 1 half bath **Total rooms:** 8

Area: 3869 sq ft **Lot size, sq ft: 19627** sq ft

SubdivisionName: Admirals Cove ListOfficeName: Waterfront Properties & Club C

GarageSpaces: 2 **View:** Garden

ListAOR: Miami Association of REALTORS® MLS ID: A11712209

Rooms



Room type	Dimensions	Area	Length	Width
DiningRoom	21 x 11.1	233.1	21	11.1
FamilyRoom	25 x 15.3	382.5	25	15.3
PrimaryBedroom	20.1 x 16.6	333.66	20.1	16.6
SecondBedroom	10.9 x 13.5	147.15	10.9	13.5
ThirdBedroom	11.5 x 13.1	150.65	11.5	13.1
Kitchen	12.4 x 15.3	189.72	12.4	15.3
LivingRoom	17.1 x 19	324.9	17.1	19
FourthBedroom	11.8 x 14.9	175.82	11.8	14.9

Building Details

Cooling features: Central Air

ArchitecturalStyle: Detached, One Story

Building Name: Admirals Cove

Roof: Metal Roof

Parking: Driveway, Golf Cart Parking

Year built: 1999

NewConstructionYN: No

Exterior material: CBS Construction

Heating: Central

Amenities & Features



Features: Built-in Features, Closet Cabinetry, Den/Library/Office, Family Room, First Floor Entry, French Doors, Pantry, Split Bedroom, Storage, Utility Room/Laundry, Volume Ceilings, Walk-In Closet(s), Workshop

Amenities: Dishwasher, Disposal, Dryer, Electric Range, Microwave, Refrigerator, Wall Oven, Washer

CommunityFeatures: Boating, Pool, Tennis Court(s), Exercise Room, Gated Community, Golf Course Community, Mandatory Hoa, Security Patrol, Spa/Hot Tub

PoolFeatures: In Ground

Spa Features: Community

GarageYN: Yes **CoolingYN:** Yes

FireplaceYN: No

PoolPrivateYN: No

WindowFeatures: Impact Glass

Waterfront available: No

AttachedGarageYN: Yes

